Tableaux des Puissances de Dix (B)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (B) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,004 0,4 0,0004 0,04
23 0,092 9,2 0,0092 0,92
86 0,344 34,4 0,0344 3,44
84 0,336 33,6 0,0336 3,36
99 0,396 39,6 0,0396 3,96
96 0,384 38,4 0,0384 3,84
X 0,003 0,03 0,3 0,0003
10 0,03 0,3 3 0,003
82 0,246 2,46 24,6 0,0246
98 0,294 2,94 29,4 0,0294
68 0,204 2,04 20,4 0,0204
70 0,21 2,1 21 0,021
X 0,05 0,005 0,5 0,0005
13 0,65 0,065 6,5 0,0065
43 2,15 0,215 21,5 0,0215
19 0,95 0,095 9,5 0,0095
47 2,35 0,235 23,5 0,0235
82 4,1 0,41 41 0,041
X 0,03 0,003 0,0003 0,3
27 0,81 0,081 0,0081 8,1
68 2,04 0,204 0,0204 20,4
93 2,79 0,279 0,0279 27,9
62 1,86 0,186 0,0186 18,6
37 1,11 0,111 0,0111 11,1
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